Maytag MFR50PDATS 04 - CABINET

y
(

]

A

AL
-

@1 -.

\

Maytag Residential Maytag MFR50PDATS Washer Parts Parts Diagram 04 - CABINET
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
001 23003637 23003814 Panel, Control
002 23002850 Components, Box Elec.
003 23002962 Panel, Side
004 23002963 Panel, Side
005 23001320 Panel, Front
006 23002964 Support, Panel
" 23002965 Support, Panel
007 23002856 Plate, Back
008 23001326 Panel, Access
009 23002858 23001327 Beam, Cross
010 23001329 Holder, Box
011 23001330 Rod, Top Panel Support
012 23002860 Tube, Distance
013 23001332 Alignment Pin
014 23001333 23004485 Lock Washer M5

015 23001334 8184504 Nut


http://www.pwslaundry.com/c-504154-residential-maytag-mfr50pdats-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10404672-maytag-23003814-washer-panel-control.html
http://www.pwslaundry.com/i-10404441-maytag-23002850-washer-components-box-elec.html
http://www.pwslaundry.com/i-10404764-maytag-23002962-washer-panel-side.html
http://www.pwslaundry.com/i-10404765-maytag-23002963-washer-panel-side.html
http://www.pwslaundry.com/i-10401524-maytag-23001320-washer-panel-front.html
http://www.pwslaundry.com/i-10404766-maytag-23002964-washer-support-panel.html
http://www.pwslaundry.com/i-10404767-maytag-23002965-washer-support-panel.html
http://www.pwslaundry.com/i-10404446-maytag-23002856-washer-plate-back.html
http://www.pwslaundry.com/i-10401505-maytag-23001326-washer-panel-access.html
http://www.pwslaundry.com/i-10401506-maytag-23001327-washer-beam-cross.html
http://www.pwslaundry.com/i-10401525-maytag-23001329-washer-holder-box.html
http://www.pwslaundry.com/i-10401507-maytag-23001330-washer-rod-top-panel-support.html
http://www.pwslaundry.com/i-10404088-maytag-23002860-washer-tube-distance.html
http://www.pwslaundry.com/i-10401438-maytag-23001332-washer-alignment-pin.html
http://www.pwslaundry.com/i-10406876-maytag-23004485-washer-lock-washer-m5.html
http://www.pwslaundry.com/i-10407460-maytag-8184504-washer-nut.html

016 23001335 23002861 Screw Lu

018 23001337 23002457 Washer M6

020 23001026 Bolt

022 23002469 23001309 Washer Lu

024 23001027 Washer

026 23002471 23001310 Nut, Self Locking

028 23001335 23002861 Screw Lu


http://www.pwslaundry.com/i-10404184-maytag-23002861-washer-screw-lu.html
http://www.pwslaundry.com/i-10404932-maytag-23003478-washer-screw.html
http://www.pwslaundry.com/i-10406873-maytag-23002457-washer-washer-m6.html
http://www.pwslaundry.com/i-10404239-maytag-23002458-washer-washer.html
http://www.pwslaundry.com/i-10404082-maytag-23001026-washer-bolt.html
http://www.pwslaundry.com/i-10401532-maytag-23002756-washer-lockwasher.html
http://www.pwslaundry.com/i-10401757-maytag-23001309-washer-washer-lu.html
http://www.pwslaundry.com/i-10404224-maytag-23003012-washer-washer-lu.html
http://www.pwslaundry.com/i-10404081-maytag-23001027-washer-washer.html
http://www.pwslaundry.com/i-10401760-maytag-23001310-washer-nut-self-locking.html
http://www.pwslaundry.com/i-10404221-maytag-23002455-washer-nut-rapid.html
http://www.pwslaundry.com/i-10404184-maytag-23002861-washer-screw-lu.html

	Maytag MFR50PDATS 04 - CABINET

